
SAP ABAP table T7PIQ_ACT_STATUS {Set User Status by Means of Activity (ISR)}

T7PIQ_ACT_STATUS

MANDT [CLNT (3)]

QMART [CHAR (2)]

FUNKTION [CHAR (4)]

ESTAT [CHAR (5)]

T000

MANDT [CLNT (3)] T7PIQ_ACT_STATUS-MANDT = T000-MANDT 0..N

1

TJ30

MANDT [CLNT (3)]

STSMA [CHAR (8)]

ESTAT [CHAR (5)]

 T7PIQ_ACT_STATUS-ESTAT = TJ30-ESTAT 
0..N

0..N

TQ80

MANDT [CLNT (3)]

QMART [CHAR (2)]

 T7PIQ_ACT_STATUS-QMART = TQ80-QMART 

0..N

1

TQ85

MANDT [CLNT (3)]

QMART [CHAR (2)]

FUNKTION [CHAR (4)]

 T7PIQ_ACT_STATUS-FUNKTION = TQ85-FUNKTION 

{0,1}

1


